
INSTALLATION INSTRUCTIONS
IMPORTANT:
Please read all instructions before beginning installation. These guidelines are provided in good faith to help prevent any issues arising from errors during installation. The manufacturer of this product shall not be held 
responsible for any user actions taken or not taken during installation. There are many details of the installation that are assumed to be general mechanical knowledge to experienced installers; which are not detailed in these 
instructions. These installation guidelines are intended to serve as professional recommendations and are not as a step-by-step, fail-safe installation checklist. Selection of an experienced installer is the sole responsibility of 
the project owner.

TIRE CARRIER MOUNT 
JEEP -WRANGLER JL M14X1.5 (5X5)

BRONCO VI (U725) M12X1.5 (6X139.7MM) 

RAPTOR M14X1.5 -(6X135MM) 

Copyright 2024 KC HiLiTES, Inc.  59-00176IM

For spare tire carriers with two lugs above the centerline, 6 and 5 lug patterns, minimum 17” wheel.  (Ford Bronco / Bronco Raptor and Jeep JL)

Remove 1 lug nut at a time on the top 2 lugs of the spare tire carrier, replacing with the 
appropriate spacer, thread pitch and length to match your wheel offset and desired look.

1

Test fit the bracket for getting the correct spacer length for your setup, using (2) M12 hex bolts and 
washers.

2

Tools Needed:
19mm Hex Bit and socket
Lug Removal Tool

3

Remove the bracket to install the FE1s and any other pieces as desired. (Red Cyclone V2, 
antenna mount, etc.)

Reinstall the bracket and tighten all fasteners.

4

for the Wiring of any lights, please follow the directions supplied with the lights.
please note that some Jeep JL models will require the back up camera trim removed with the Jeep tool kit that comes with the Jeep or with a T40 Torx Bit.


